Honors Algebra 1 Name k/ = ;/ ID: 1
Chapter 2 Practice Test (2023) Date Period

Word Problems. Write the Key Info. Define the variable. Give the Proportion Equation.

Answer in words. (10 pts)
Revie

1) WP: SEE"handout with word problems on page 2.

Name the set or sets to which each number belongs. W=whole number; I=integer; R=rational;
IRR=irrational (2pts each)
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Identify parts of an expression (2pts each)
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Simplify each expression. Clearly show work. Write expressions in STANDARD form (6pts
each) ,\
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Solve and check each proportion equation.
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Solve and check each equation. Clearly show work (6pts each)
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